
1.

(A) (B) C 

(C) (D) 

2.

(A) (B)

(C) (D)

3. 

(A) (B)

(C) (D)

4.

(A) 12 (B) 18 
(C) 24 (D) 26 

5.

(A) (B)

(C) (D) 

6.

(A) 

(B) 

(C)

(D)

7.

(A) 46 (B) 43 
(C) 44 (D) 45 

8.

(A) (B)

(C) (D)

9.

(A) 

(B)

(C)

(D)

10. pH

(A) 5 – 6.5 (B) 6.5 – 7.5 
(C) 7.5 – 8 (D) 8 – 8.5 

11. 

(A)

(B)

(C)

(D)

12.

(A) (B)

(C) (D) 

13. 8

(A) (B)

(C) (D)

14.

(A)

(B)

(C)

(D)

15.

(A) GNDU (B) DHU 
(C) INTUC (D) LDC 

16.

(A) 31 (B) 11

(C) 28 (D) 10

17.

(A) (B)

(C) (D)

18.

(A)

(B)

(C)

(D)

19.

(A) (B)

(C) (D)

20.

(A)

(B)

(C) 

(D)

21.

(A) (B) 

(C) (D)

22.

(A)
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(B)

(C)

(D)

23.

(A) (B)

(C) (D)

24.

(A) (B)

(C) (D)

25. 

(A) (B)

(C) (D) 

26.

(A) 1. 

(B) 2.

(C) 3. 

(D) 4.

 (a) (b) (c) (d) 
(A)  2  3  4  1 
(B)  1  2  3  4 
(C)  3  4  2  1 
(D)  4  3  1  2 

27.

(A)

(B)

(C)

(D)

28. 2010 

(A) (B) 9

(C) (D)

29.

(A)

(B)

(C)

(D)

30.

(A) 1. 

(B) 2.

(C) 3. 

(D) 4.

(a) (b) (c) (d) 
(A)  1  2  4  3 
(B)  2  3  4  1 
(C)  4  2  3  1 

(D)  3  1  4  2 

31.

(A) (B)

(C) (D)

32.

(A)

(B)

(C) 

(D) 

33. 55 1986 

(A) (B)

(C) (D)

34.

(A)

(B)

(C) 

(D)

35. 

(A) 370 (B) 368 
(C) 390 (D) 376 

36-40

– A, B, C, D, E, F, G H

B, A

A, C F, E

E, B D, H

H, G 

36. B

(A) G (B) F 
(C) D (D) H 

37. A

(A) G (B) D 
(C) H (D) E 

38. F H

(A)

(B)

(C)

(D)

39.
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(A) AD (B) HG 
(C) FG (D) BF 

(A) BH (B) DF 
(C) CG (D) EA 

41-45

A -I

B -II

C I II

D I II

41.

I

II

42.

I

II

43.

I

II

44.

I

II

45.

I

II

46-50

I II

(A) I

(B) II

(C) I II

(D) I II

46.

I.

II. 

47.

I.

II.

48.

I.

II. CO2

49.

I.

II.

50.

I.

II.
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51-55

51. (A) (B)

(C) (D)

52. (A) (B)

(C) (D)

53. (A) (B)

(C) (D)

54. (A) (B)

(C) (D) 

55. (A) (B)

(C) (D)

56-60

(A) (B) 

(C) (D) 

56.

57.

58.

59.

60.

61-65

61. 1. 2.  

3. 4.

5.

(A) 5,2,3,4,1 (B) 4,3,2,1,5 
(C) 4,3,1,2,5 (D) 2,4,3,1,5 

62. 1. 2. 

3. 4.

5.

(A) 2,4,3,5,1 (B) 3,2,1,5,4 
(C) 4,5,1,3,2 (D) 5,4,3,2,1 

63. 1. 2.

3. 4.

5. 

(A) 5,4,3,2,1 (B) 5,4,2,3,1 
(C) 5,2,4,1,3 (D) 2,1,3,4,5 

64. 1. 2.

3. 4.

5.

(A) 1,2,4,3,5 (B) 1,5,3,2,4 
(C) 4,2,3,5,1 (D) 4,2,5,3,1 

65. 1. 2. 

3. 4.

5.

(A) 2,3,1,5,4 (B) 2,1,3,4,5 
(C) 3,2,1,5,4 (D) 3,1,2,4,5 

66.

26
18

27

(A) 
8

27

(B) 
2

2
3

(C) 
1

1
3

(D) 

67. 20

3 : 5: 7

(A) 20 (B) 28

(C) 35 (D) 30

68. ` 1 2 ` 

1 5

(A) 120% (B) 90% 
(C) 30% (D) 60% 

69. ` 720

25% 25%

(A) ` 1,200 (B) ` 1,000 
(C) ` 960 (D) ` 900 

70.

` 500 20%

12%

(A) 1.5% (B) 2%

(C) 1/5% (D) 2%

71. 8 40

2

(A) 30 (B) 32

(C) 36 (D) 25
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72. a b 24 30

(A) 13 20

(B) 13 15

(C) 13 10

(D)13 40

73. 18

16

(A) 25 (B) 26 
(C) 27 (D) 30 

74. 15

(A)
1

5 %
2

(B) 6%

(C)
2

6 %
3

(D) 25% 

75.

2 2

(A) 1 (B) 3

(C) 3 (D)  2 3

76. 384 2

(A) 512 3

(B) 516 3

(C) 510 3

(D)

77. 6160 3

14

(A) 10 (B) 15

(C) 12 (D) 20

78.

147 147 147 143 143 143

147 147 147 143 143 143

    

    

(A) 
1

290
(B) 290 

(C) 
1

4
(D) 4 

79.

  1 1 1 1 1 1     


(A) 0 (B) 1 
(C) 2 (D) 3 

80.
15

,x
x


 x

(A) -5 -3 (B) -5 3 

(C) -3 5 (D) 3 5 

81. 24 4.899,
8

3

(A) 0.544  (B) 2.666 
(C) 1.6333  (D) 1.333 

82. 

(A) 3 %xy (B) xy 2%

(C) x %y (D) y %x

83. A : B = 2 : 3 B : C = 4 : 5, C : A = 

……………………..?
(A) 15 : 8 (B) 12 : 10 
(C) 8 : 5 (D) 8 : 15 

84. a b 10 1

(A)
1

12
2

(B) 6

(C) 5 (D) 4

85. 15 4

63

(A) 12 36

(B) 15 32

(C) 16 4

(D) 16 48

86.

(A)

(B)

(C)

(D) 

87.

(A)

(B)

(C)
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(D)

88.

(A) 

(B) 

(C)

(D)

89.

(A) (B)

(C) (D) 

90.

(A)

(B)

(C)

(D)

91.

(A)

(B) 

(C) 

(D)

92.

(A)

(B)

(C)

(D)

93.

(A)

(B)

(C)

(D)

94.

(A)

(B)

(C)

(D)

95.

(A)

(B)

(C)

(D) 

96.

(A)

(B)

(C)

(D)

97. 120

(A)

(B)

(C)

(D)

98.

(A) (B) 

(C) (D)

99.

(A)

(B)

(C)

(D)

100.

(A)

(B)

(C)

(D)

101. 

(A)

(B)

(C)
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(D)

102.

(A)

(B) 

(C) 

(D)

103. a, b c

(A) a (B) b 

(C) c (D) 

104. NCERT

(A)

(B)

(C)

(D)

105.

(A) 28 (B) 29 

(C) 30 (D) 31 

106.

(A) 2 (B) 11

(C) 30 (D) 31

107.

(A)

(B)

(C)

(D)

108.

(A)

(B)

(C)

(D)

109. 

(A)

(B)

(C)

(D)

110. 

(A)

(B)

(C)

(D)

Directions—(111—114) : Read the passage

given below and choose the correct option to 
answer each of the questions that follows— 

There was once a fisherman who was also an 
excellent flute player. One day he took his flute 
and a fish-basket, jumped up on a rock and began 
to play his time. He was convinced that the fish 
would be enchanted by his music and leap into his 
basket willingly. Unfortunately, he did not catch a 

single fish. So he went home, brought his net and 
threw it into the water. He caught so many fish 
that his basket overflowed. ‘Stupid creatures!‘ he 
exclaimed, as he watched the fish twist and jump 
into his net.’ You did not dance when I played my 
flute, hut when I am not playing, you can’t stop 
dancing!’ 

111.  With what could the fisherman succeed in catching 
fish? 
(A) A flute 
(B) A fish basket 
(C) A fishing net 
(D) None of the above 

112.  Why did he play his flute? 
(A) The fish would be charmed by the music 

(B) The fish would dance on a rock 
(C) The fish loved the fish basket 
(D) None of the above 

113.  Why couldn’t he catch a single fish? 

(A) The fish didn’t like his music 
(B) It is foolish to catch fish with a flute 
(C) His flute did not play well 
(D) None of the above 

114.  Why did he call the fish ‘stupid creatures’? 
(A) The fish are really stupid 
(B) The fish did not like his music 

(C) The fish were playing in the net 
(D) None of the above 

Directions—(115—118) Fill in the blanks in the 
following sentences with the help of options that 

follow— 

115.  Why did you tell …………….. lie?

(A) a (B) an 
(C) the  (D) no article 

116.  The medal was won ………………. Ram.

(A) for (B) with 
(C) by (D) on 

117.  He took pride ………….. his victory.

(A) for (B) of 
(C) with (D) in 
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118.  She was gazing ………………. me.

(A) on (B) for 
(C) at (D) into 

Directions—(119) Identify the part of 

speech of the bold word. 

119.  I am going to the airport— 
(A) Noun 
(B) Verb 
(C) Preposition 
(D) Pronoun 

Directions—(120) Identify the tense of the 
following sentence. 

120.  She looks after her aged mother. 
(A) Present Indefinite 

(B) Present Perfect 

(C) Past Indefinite 
(D) Present Continuous 

Directions—(121—122) Identify the word 
whose spelling is correct. 

121.  (A) PROPARTY 
(B) PROPERTY 
(C) PRAPERTY 
(D) PRAPARTY 

122.  (A) MINATE 
(B) MINITE 
(C) MINUT  

(D) MINUTE 

Directions—(123—124) Choose the correct 
one-word substitute for each of the following— 

123.  A person who operates the controls of an aircraft— 
(A) Engineer 

(B) Captain 
(C) Pilot    
(D) Driver 

124.  Qualified/Fit to be chosen— 
(A) Passable (B) Eligible 
(C) Mediocre (D) Ordinary 

Directions—(125—126) Choose the word 
which is similar in meaning to the one in 
capitals — 

125.  BRUTAL 

(A) Cruel (B) Cunning
(C) Lonely  (D) Unfair 

126.  ELEGANT 
(A) Ardent  (B) Odd 
(C) Bold  (D) Refined

Directions — (127—128) Choose the word which is 
opposite in meaning to the one in 
capitals — 

127.  LIBERTY 
(A) Unhealthy (B) Slavery 
(C) Freedom  (D) Vice 

128.  SUPERIOR 
(A) Junior (B) Senior 
(C) Lower (D) Inferior 

Directions — (129—130) Identify the part of the sentence 
which has an error in it. In case there is no error 
the answer will be (D). 

129.  Ram has a / large number / of money 
  (A)               (B)  (C) 

 No error 

    (D) 
130.  I shall not / come to you / if it will rain 

    (A)                (B)              (C) 
 No error 

 (D) 

131.

(A) (B) 

(C) (D)

132.

(A) (B)

(C) (D)

133.

(A)

(B)

(C)

(D)

134.

(A) (B)

(C) (D)

135-138

135.

(A) (B)
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(C) (D) 

136.

(A) (B)

(C) (D)

137.

(A) (B)

(C) (D)

138.

(A) (B) 

(C) (D)

139.

(A) (B)

(C) (D)

140.

(A) (B) 

(C) (D) 

141.

(A) (B)

(C) (D) 

142.

(A)

(B)

(C)

(D)

143. 

(A) (B)

(C) (D)

144.

(A) (B)

(C) (D)

145.

(A) 

(B)

(C)

(D)

146.

(A)

(B)

(C)

(D)

147.

(A) (B)

(C) (D)

148.

(A)

(B)

(C)

(D) 

149.

(A) (B)

(C) (D)

150.

(A) (B)

(C) (D)
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